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Question 1.Select the related word/letters/number from the given alternatives.

3 T fAwed! & § Jaiid e/ S1&Ry/we &I gig)
Psychology : Human Being :: Ornithology : ?
Hl'ifﬂﬁ?ﬁﬁﬁ TG ;RIS

Options:

1) Birds

gt

2) Volcanoes

3) Insects
IS

4) Reptilés

Correct Answer: Birds
gt

Candidate Answer: Insects

Question 2.Select the related word/letters/number from the given alternatives.

30 T Aol B ¥ dafId e/ SieRrl/Re o gHu|
EGIK : FHIL :: MOQS : ?

Options:

1) LNOQ

2) NPRT

3) KMOQ

4) NRPT
Correct Answer: NPRT
Candidate Answer: NPRT

Question 3.Select the related word/letters/number from the given alternatives.

233 T e & ¥ e Usg/ s1eRl/Tem & giul
147 :741::869 :?

Options:

1) 896

2) 968

3) 689

4) 986
Correct Answer: 968
Candidate Answer: 968

Question 4.

For the following questions

Find the odd word/letters/number pair from the given alternatives.

Uy ¥ QU e fawed! & 3§ fawn wrea/sier/<am gm giu)

Staff Selection Comimnission
(Government Of India)

CANDIDATE NAME :
EXAM START TIME : 10:00:00
EXAM DURATION : 01:15 Hrs
TOTAL NO OF QUESTIONS : 100



Options:
1) Herb
Rica

2) Flower
Td

3) Tree

4) Shrub
S]]

Correct Answer: Flower

®a

Candidate Answer: Herb
PUEa

Question 5.

For the following questions

Find the odd word/letters/number pair from the given alternatives.
Uy QU e fawed! & 3§ fawn wrea/sier/xem gm giu)
Options:

1) JKLM

2) NOPQ

3) RSTU

4) VWXZ
Correct Answer: VWXZ
Candidate Answer: VWXZ

Question 6.

For the following questions

Find the odd word/letters/number pair from the given alternatives.
AUy UL foed & 3 faww wreg/siar/sem 3w Tl
Options:

1) (85, 136)

2) (34, 85)

3) (102, 153)

4) (63, 162)
Correct Answer: (63, 162)
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per order in the dictionary
fafRaT el & AUsgdI & U 7T 9 & SH9R fofaul

1. Organ 2. Origin 3. Orient 4. Organic 5. Organise

Options:

1)1,5,3,4,2

2)1,54,2,3

3)1,4,5,3,2

4)1,4,52,3
Correct Answer: 1, 4,5, 3,2
Candidate Answer: 1, 4,5, 3, 2

Question 8.Which one set of letters when sequentially placed at the gaps in the given letter series shall complete it?
3HeR} PT HIF-T1 T WT I TR HHAR TG F € T2 3eR 4RI Bl T Hedl § ?

_Sr_tr_srs_r_srst_



Options:
1) ttssrr

2) tsrtsr
3) strtrs

4) tstttr
Correct Answer: tstttr
Candidate Answer: tstttr

Question 9.Find the missing number in the following series:
siga o g e I Bt |

43,172, 86, 344, ?

Options:

1) 172

2) 258

3) 129

4) 430
Correct Answer: 172
Candidate Answer: 129

Question 10.'A' is the sister of 'B'. 'B' is married to 'D'. 'B' and 'D' have a daughter 'G'. How is 'G' related to 'A'?

A BB ST BB UIDIGEIIBIRDBITH'G' T GHAT TN THG ?
Options:

1) Sister

ERal

2) Daughter

3) Niece
Heftit

4) Cousin
EERKTE

Correct Answer: Niece

Candidate Answer: Niece

Question 11.Anil is as much younger to Vivek as he is older to Tarun. If the total of the ages of Vivek and Tarun is 48 years, how old is Anil?
T I3® B a1 BleT 8, 300 I I3 €1 781 81 T f3F 3R T80 BY 311G 1 INT 48 Y BT, Al S1fIa BT 3G 1T HifoTY ?

Options:

1) 26

2)33

3)24

4) 18
Correct Answer: 24
Candidate Answer: 24

Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:

fafaRad fawed! & & a8 Wea ML S AU TTU Xeg & 31&RT BT TRANT H=eb T ST S FhaTl |

CHRONOLOGICAL
Options:

1) CALL
2) LOGIC
3) CALICO

4) ANALOGY
Correct Answer: ANALOGY
Candidate Answer: ANALOGY

Question 13.If HOUSE is written as FQSUC , then how can CHAIR be written in that code?

gfé HOUSE &1 FQSUC feraT it gehdll B, dl CHAIR &1 ) forg T & ?



Options:
1) DIBJS

2) SBIID
3) SHBGD

4) AJYKP
Correct Answer: AJYKP
Candidate Answer: AJYKP

Question 14.If P denotes + , Q denotes X, R denotes + and S denotes - then what is the value of 18Q12P4R5S6

IMRPHI3F +, QT 3td x, RT3 + AR s Hranf-grar
18Q12P4R5S6 T A FdTST ?

Options:
1) 64
2)53
3)81

4) 24
Correct Answer: 53
Candidate Answer: 53

Question 15.1f 4 + 3 = 25

and8+4 =80,
then,3+2="7?
R4 +3=25
3R 8 +4 =80
q,A3+2=2
Options:

1) 15

2) 10

3)13

4) 12

Correct Answer: 13
Candidate Answer: 10

Question 16.Select the missing numbers from the given alternatives

3w gu fawed & Q g I & 1d B |

|

)
lw ||

Options:
1) 30

2)35
3)20

4) 25
Correct Answer: 35
Candidate Answer: 35

Question 17.Ramesh starts his journey by walking 2 kilometres towards North. Then he takes a right turn and walks 1 kilometre. Again takes a right turn and walks 2
kilometre. Now which direction is he facing?

0% 2 fraitfier IR Bt ok 7w, fo5R a7 aIfe™ graR 1 fheiex Ten R o aifes g ok 2 frditier an s@ Iu@ Jgv fra R A § 2

Options:
1) East

2) West

3) South
al&mm
4) North
3R



Correct Answer: South
afgmn

Candidate Answer: South
afgmn

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statement: Irregularity is a cause for failure in exams. Some regular students fail in the examinations.

Conclusions: I. All failed students are regular.

II. All successful students are not regular.

Frofafad vy & ue o1 <) goded 2 T 7, s am <) s arany, 1 $R 11 B T # | sl R w3 § b aoqer I § 91 98 IEG: T a9 i
Uit BiT g1 Ut fufg &= § 6 13U U gaqer & | SiF-1 Pt T 3 9t e s/amgar Ferer s 3w § 2
FYT : The H B e BT SR AT 81 $B FHafird el wdanei ¥ haga g |

e : 1. Wt B g Al faemd Fafda g5 &1

11 it Ihet g ara faemdf fafia Tt 8 |

Options:

1) Only conclusion I follows

Bael I ey 92l 2|

2) Only conclusion II follows

ad 11 Frepy Tel R

3) Both conclusion I and conclusion II follow

1 3R 11 S s wet §1

4) Neither conclusion I nor conclusion II follows

A IE I ey T B

Correct Answer: Neither conclusion I nor conclusion II follows

TRITE I Fpd T B

Candidate Answer: Only conclusion II follows

e 11 ey TEl B

Question 19.How many triangles are there in the given figure?

fod m o & e e © 2

Options:
1) 18

2) 19
3)20

4)21
Correct Answer: 20
Candidate Answer: 18

Question 20.Which one of the following figures represents the following relationship:

g2e MU o F @ e & o) o W ae ue R 2
Birds, Parrots, Bats



Options:

1)
2)
3)
4)
Correct Answer:

©O

Candidate Answer:

©O

Question 21.Which answer figure will complete the pattern in the question figure?

ISR AT A T B R a3 2

® ®




3)
i Y
N

a)
N 3
......

Correct Answer:

Candidate Answer:

Question 22.From the given answer figures, select the one in which the question figure is hidden/embedded

& T I Pl H ¥ I g S vy sl fAfka 71

s




Options:
1)

2)

3)

)
|
|

Correct Answer:

Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

3R et BT Y ey SiTepfrall & fRame T fory SIgaR HiSaR HieT WY df Wia F a1 98 f3rd ST S S e 3m »

- e
'~ Rt
M| .
" L i
1]
H %
;
-
L



Options:

1)
) N
S
(o0
d oD
00
1 ¢ P
4) _

Question 24.If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

3Ty & TS T U0 Y AB T IR @ TR €t TE IR Sl F A S-Sl vy snapfa o et ufdfar gt 2




Options:

1)

D
2)

e

3)

D)
4)

O

Correct Answer:

Candidate Answer:




Question 25.1In the question, a word is represented by only one set of numbers as given in any one of the alternatives. The sets of numbers given in the alternatives
are represented by two classes of alphabets as in two matrices given below. The columns and rows of Matrix I are numbered from 0 to 4 and that of Matrix II are
numbered from 5 to 9. A letter from these matrices can be represented first by its row and next by its column, e.g., 'B' can be represented by 00, 13 etc., and 'A' can
be represented by 55, 69 etc.

Similarly you have to identify the set for the word 'GIRL'

Profifed uy § R § Ry 1y den-aug, &Rl $ < avf gr1 3eiu e §, SR b = Ru € oreygl § €1 amedg 1 % T 3R Ui & dem 0 9 4 a6 & T 7, IR
SYE 11 % 5 Y 9 OF, 37 SHToIR! U U 3R P U ST UfeRT SR a1G H Tw TR GRT G=IT S Thel] 7| J&TeRYT & oI, B 1 00, 13, SM1fS GRT <ifar i1 Tehell &
TUT A B 55, 69, 3M1fS GRI ST ST ThaT 81 T UBR AU AT TTE Weg 'GIRL' ¥ T THg &1 Uga=1 8|

MATRIX | MATRIX I

FIRAEIEAE 5/6|/7/8]|9
o/ [N|[G[L|D| [5]a]t|k]o]R
1|6 |L|p| B[N | [K|o R [A
2(o(e[N[e[L] [7]k]o[r[A]
3njG[L|p[B] |8lo]RlA]iI|K
alL [ole|[nN[G| |9]|r[a]1 K]0
Options:

1) 02, 56, 97, 24
2) 31,79, 68, 42
3)23,97,77, 11

4) 11, 88, 95, 23
Correct Answer: 23, 97,77, 11
Candidate Answer: 02, 56, 97, 24

Question 26.The minimum short-term natural hazard is

T 3B Tpfie Gebe B A E ?
Options:

1) blizzard

2).earthquake

3) volcanic eruption

4) bolt of lightning
forotelt 1 =wes

Correct Answer: bolt of lightning
&I D

Candidate Answer: [ NOT ANSWERED ]

Question 27.DOTS is a treatment given to patients suffering from

"Sic S ST [y SR % o e ST § 2
Options:

1) Polio

qifera

2) AIDS
g ¥

3) Hepatitis
fRuersfew

4) Tuberculosis
Correct Answer: Tuberculosis

Candidate Answer: [ NOT ANSWERED ]

Question 28.Which dynasty was ruling in Vijaynagar empire at the time of the Battle of Talikota?

qfedIeT b T & THY AR TTsT | B I IS BT AT AT ?
Options:

1) Sangam

I

2) Aniridu

3) Tuluva

qdar
4) Saluva
a1

Correct Answer: Tuluva

daar



Candidate Answer: Sangam
T

Question 29.Which of the following Sultans died while playing Polo or Chaugan?

el a1 v Werd wHg FafifEd # @ b gadH o 9 83 2
Options:
1) Qutb-ud-din Aibak

2) Balban
ENEE]
3) Ilitutmish

4) Nasiruddin Muhammad
THE YorTa
Correct Answer: Qutb-ud-din Aibak

Candidate Answer: Qutb-ud-din Aibak

Question 30.Molten rock below the surface of the earth is called

Tl 1 3 9 P Ue §U URR P 7 HET S Q ?
Options:

1) Basalt

I

2) Laccolith
NEAIND]

3) Lava
ofiar

4) Magma
e

Correct Answer: Magma

Candidate Answer: Basalt

Question 31.Magnesium is a constituent metal of

iy faffed & § fbge Jacs uig & ?
Options:
1) Chlorophyll molecule
qufgRa 3] (
2) DNA
SRR
3) Mitochondria
b3l
4) Ribosomes

Correct Answer: Chlorophyll molecule
gufgh 9] (
Candidate Answer: Chlorophyll molecule

gufgha g (

Question 32.Which one among the following components is used as an amplifying device?

Fofifad § § BH-91 9ed Taei® WeF & 0 J Ted g1 S ?
Options:

1) Transformer

4

2) Diode

SRS

3) Capacitor
T

4) Transistor
<

Correct Answer: Transistor
<

X

Candidate Answer: Diode

Question 33.A is an agreement between the communicating parties on how communication is to proceed.

<l &l & i GEIT B BT T UFT AT & Sl T8 1T § 1 U9 $Ha fhar & |



Options:
1) Path
ji)

2) SLA
LSAYAY
3) Bond
EiS]

4) PerocoI

Correct Answer: Protocol

Candidate Answer: Bond
IS

Question 34.Name the gas used in preparation of bleaching powder

faeT UGS ER @Y dUR B § Ued g9 arell 1 - R 2
Options:

1) Oxygen

SHferftorT

2) Hydrogen
RECIEE!
3) Nitrogen
BIERCE
4) Chlorine
ENING]

Correct Answer: Chlorine

Candidate Answer: Chlorine

Question 35.The depletion in Ozone layer is caused by

3T B IR H Redfiesur fhae SR ST g ?
Options:

1) Nitrou; oxide

qge RS

2) Carbon gioxide

P SRHTRS

3) Chlorofluorocarbons

4) Methane
R0
Correct Answer: Chlorofluorocarbons

Candidate Answer: Chlorofluorocarbons

Question 36.Sariska and Ranthambore are the reserves for which of the following

IREpT 3R urER Fafeiad & | fbge WRita wH & 2
Options:
1) Lion

2) Deer

3) Tiger

1)

4) Bear

HIT,

Correct Answer: Tiger
oY

Candidate Answer: Tiger
Elo)

Question 37.The prestigious 'Jawaharlal Nehru Award for International Understanding' is instituted by

SR THFER (AR SRS F T G o1 a1 STaTeraa e YREpR foads gRI foam e 8 2

Options:

1) National Centre for Art and Culture

RERENIERS

2) Department of Youth and Sports

a1 3R Yo U

3) Nehru Memorial Museum

I WRS SR

4) Indian Council for Cultural Relations
Hip e daw) aRug

Correct Answer: Indian Council for Cultural Relations

YR TR i da aRue

Candidate Answer: [ NOT ANSWERED ]



Question 38.Phosphorus is kept in water because

HIEHRY B O F T 3@ ST g ?

Options:

1) its ignition temperature is very high

Fiifds IUHT ST dIHH Igd

2) its ignition temperature is very low

Filfts IHPI ST AUHH Tgd HH 81l &

3) its critical temperature is high

Tl ITHT shifdies AT 3ifdles Ehetl 3

4) its critical temperature is low

iy T Shifdich ATTHH bH Bl &

Correct Answer: its ignition temperature is very low
iy e Seie AITH Sgd HH BIdl 8

Candidate Answer: its ignition temperature is very high
Fiifds IUHT ST YA 9gd

Question 39.The famous Dilwara temples of Mount Abu are a sacred pilgrimage place for the

Ade g Ryd AR Redarer AR Rafifed &  f ggem &1 ufa dled @ 2
Options:

1) Buddhists

I

2) Jains

Sol

3) Sikhs

g

4) Parsis

IR

Correct Answer: Jains

Candidate Answer: Jains

Question 40.The unit of measurement of noise is
STITS! BT TTY BT Wb T § ?

Options:

1) Decibel

SR

2) Hertz

3) Ampliﬁer

TRABRR

4) Acoustics

Correct Answer: Decibel

Candidate Answer: Decibel

Question 41.The commonly used coolant in refrigerators is

Apeivex H TMTTa: fhe Hiidees(pdic) T TRNT b ST & 2
Options:
1) Ammonia

2) Nitrogen
RIS
3) ereon

4)v Oxygen
SHTRfSH

Correct Answer: Freon
W3

Candidate Answer: Freon
Wi

Question 42.The complete form of 'IC' in electronics is

gage  TRmC w1 guf g @ g 2



Options:
1) Internal circuit

2) Independent circuit
3) Integrated circuit
: e

4) Inbuilt circuit
o wibe

Correct Answer: Integrated circuit

Candidate Answer: Integrated circuit

Question 43.Who among the following did Gandhiji regard as his political Guru?

FrofaRa § 4 R oo I e 9 A 2
Options:
1) Mahadev Desai

2) Dayanand Saraswati

UIETA

3) Acharya Narendra Dev
Reda

4) Gopal Krishna Gokhale

TioTe T Mg

Correct Answer: Gopal Krishna Gokhale
TioTe T M

Candidate Answer: Gopal Krishna Gokhale
TioTe T MR

Question 44.Which of the following constitutional Amendment Act, deals with the Elementary Education as a Fundamental Right?

Frofifad 7 9 SF-ar Siaur S sy uRMYe e & ge SfieR & w0 § g9 9 Yefia 8 2
Options:

1) 84th Amendment Act

84 97 TAuF T=Meq s

2) 85th Amendment Act

85 g1 Ay witeH sfifam

3) 86th Amendment Act

86 9T WY WReH

4) 87th Amendment Act

87 a1 TfAuM T=Meq s

Correct Answer: 86th Amendment Act
86 AT AAY TR

Candidate Answer: [ NOT ANSWERED ]

Question 45.The World's largest island is

fay o1 9o 991 glu-gg HH-ATR 2
Options:

1) Greenland

PIER

2) Icelgmd

3) New Guinea

= fifar
4) Madagascar

Correct Answer: Greenland

Candidate Answer: Greenland

Question 46.Sea water is saltier than rain water because

T 1 a1 P o B UM TIPS A0 ITel Bl © AP
Options:

1) Sea animals are salt producing

TS F o] AU IIT PR §

2) The air a)round the sea is saltish ]

T5 % IR 3R g4l a7y 7oy gl §

3) Rivers wash away salts from earth and pour them into the sea
e gedt A a0 STk @ Sl § R g § St ot §

4) Sea beds have salt producing mines

T & BRI TR a0 A1 R areht @ Bt §

Correct Answer: Rivers wash away salts frpm earth apd pour them into the sea
Rl gudt @ a0 SRR o Sl § oK g # ST &t §
Candidate Answer: [ NOT ANSWERED ]



Question 47.Pannalal Ghosh played which of the following musical instruments?

e O FEfafred § ¥ SH-91 91 37 Seid 3 ?
Options:
1) Flute

2) Sitar
AR

3) Violin
CIECNE]

4) Santoor
IR

Cprrect Answer: Flute
Candidate Answer: [ NOT ANSWERED ]

Question 48.Rio Summit is associated with

Xl Ry Tia 1 ddy fhad § 2
Options:

1) Convention on Biological Diversity
EEACICEGIR

2) Green house gases

PSRRI

3) Ozone depletion

3T Rerfieor

4) Wet lands
T Y
Correct Answer: Convention on Biological Diversity

Sa-Rfdear W e
Candidate Answer: [ NOT ANSWERED ]

Question 49.Polyploidy arises due to change in the

TE (Ui R uRade 89 R Bk 8 ?

Options:
1) number of chromatids
PHHRS BT T
2) structure of genes
BT
3) number of chromosomes
Eakites)
4) structure of chromosomes
Cakiren|
Correct Answer: number of chromosomes

DT B AT
Candidate Answer: [ NOT ANSWERED ]

Question 50.Which South Korean author in May 2016 won the 2016 Man Booker International Prize for her novel 'The Vegetarian'?

o 3fem PIRTE TRaw &1 T 2016 T SO ITAN G ARTRIT F RIT 2016 HT AT IR SR [REPR firef ?
Opti :
1)pH;r'1‘ls(ang

2) Yiyun Li

g

3) Tami Hoag
&t g

4) Taya Zinkin
a™r
Correct Answer: Han Kang

Candidate Answer: [ NOT ANSWERED ]

Question 51.A and B together can finish a work in 30 days. They worked for it for 20 days and then B left the work. The remaining work was done by A alone in 20
days more. In how many days can A alone finish the work?

A 3R B e &% U B & 30 3 H THE &R Tehd g1 S8 20 fa 1 e, I9% 1E B 3 1M ©iS faam A9 B A 7 3 fvar w20 &7 o1 99T 3R @
FARY A 3Pl 98 P b T H B gpar @ ?
Options:

1) 48 days

48 faq

2) 50 days

50 &7

3) 54 days

54 f&

4) 60 days

60 fa

Correct Answer: 60 days

60 faa



Candidate Answer: 60 days
60 fad

Question 52.The centroid of an equilateral triangle ABC is G. If AB is 6 cms, the length of AG is

ot TraTg AU ABC 3T 35 G 71 T AB = 6 9.4, B, I AG 1 THaTs F gnft 2
Options:

1) V3 cm

v3q.Ht

2)2v/3cm

2v3 o

3)3v2cm

3v2 3.4t

4) 2v2 cm

2v2 /.4

Correct Answer: 2v3 cm
2v3 a.t

Candidate Answer: 2v3 cm
2v3

Question 53.A merchant changed his trade discount from 25% to 15%. This would increase selling price by

Tt SR = oo ARl 9 B AR 25% U 15% TR <t U9 Ay g § e 9fs gl 2
Options:
1) 315%

2) 6'%%
3) 13V5%

4) 16'5%
Correct Answer: 13'3%
Candidate Answer: 13%5%

Question 54.1f 177 is divided into 3 parts in the ratio 1/2 : 2/3: 4/5, then the second part is

I 177 B 1/2 : 2/3: 4/5 B UG B A HFTT F Fvad fam ST o Tang gIRT HRT 497 81 ?
Options:
1) 75

2)45
3)72

4) 60
Correct Answer: 60
Candidate Answer: 60

Question 55.If percentage of profit made,when an article is sold for Rs.78, is twice as when it is sold for Rs.69, the cost price of the article is

foeit 9% B Rs. 69 H ST P SO Rs. 78 H T J oY BT TN G SIell 8 | S I 1 559 g 31 G ?

Options:
1) Rs. 49

2) Rs. 51
3) Rs. 57

4) Rs. 60
Correct Answer: Rs. 60
Candidate Answer: Rs. 60

Question 56.The ratio between Ram's age and Rahim's age is 10:11. What is the age of Rahim in percentage of Ram's age

I TR XS BT Mg H 10:11 HT U 81 IH B 3G Y ENT B AR BT I IR ?
Options:

1)

109%/13 %

2) 110%

3)
111%/5 %

4)111%
Correct Answer: 110%
Candidate Answer: 110%



Question 57.Gautam travels 160 kms at 32 kmph and returns at 40 kmph. Then average speed is

Tiiaw 32 .1, /deT B T ¥ 160 5. 1. Treiar § 3R 40 5. 7. /tie1 31 =Iret I dedr 81 i 91d 93¢ ?
Options:

1) 72 kmph

72 {5 1ft javer

2) 71.11 kmph

71.11 & .4t /aver

3) 36 kmph

36 3.1t /aver

4) 35.55 kmph

35.55 fo. 1t aver

Correct Answer: 35.55 kmph
35.55 fo. 1t /aver

Candidate Answer: 35.55 kmph
35.55 fo. 1t /aver

Question 58.If x=3/2, then the value of 27x3-54x2+36x-11 is

e x=3/2 B Al 27x3-54x2+36x-11 T A T G ?
Options:

1) 113%

2) 11%

3) 123

4) 125
Correct Answer: 12%
Candidate Answer: 12%

Question 59.If a+b+c = 6 and ab+bc+ca = 1, then the value of bc(b+c) + ca(c+a) +ab(a+b) +3abc is

T a+b+c = 6 3R ab+bc+ca = 1 8, @l be(b+c) + ca(c+a) +ab(a+b) +3abe BT A T BT ?
Options:
1)33

2) 66
3)55

4) 23
Correct Answer: 66
Candidate Answer: [ NOT ANSWERED ]

Question 60.If the angles of a triangle are in the ratio of 2:3:4, then the difference of the measure of greatest angle and smallest angle is

e, et P F BI0T 2:3:4 F U B §1 ! Ja I B0 3R TATH B0 P AT BT 3= 3T I ?

Options:
1) 20°

2) 30°
3) 40°

4) 50°
Correct Answer: 40°
Candidate Answer: 40°

Question 61.In AABC, zA = 90°, AD L BC and AD = BD = 2 cm. The length of CD is

Tfe A ABC H A = 90°, ADLBC 3R AD = BD = 2 §.#t. €1 dl CD ) v o g1t 2
Options:

1)3cm

39,

2)3.5cm

3.5 9.,

3)3.2cm

3.2

4)2cm

294,

Correct Answer: 2 cm
294,

Candidate Answer: 2 cm
294



Question 62.
If tan 45°= Cot8 , then the value of 8, inradiansis

fE tan 45° = cot OFT, O @ FH AT g 7 Jdd|

Options:
1H)n

2) /9

3)n/2

4) n/12

Correct Answer: /9

Candidate Answer: I1/2

Question 63.(2°1 + 252425342544255) is divisible by

(250 + 252 4 253 4 254 4 255) FrfefEd & & Bbed Rwea & 2

Options:
1) 23

2) 58
3) 124

4) 127
Correct Answer: 124
Candidate Answer: 124

Question 64.The average of 12 numbers is 9. If each number is multiplied by 2 and added to 3, the average of the new set of numbers is

12 st &1 3 9 §1 3 Ui TReAT Y 2 < TOT {3 ST SiR 3 ST WY d SReai 3 U Je BT SAGd 1 g ?
Options:
1)9

2)18
3)21

4) 27

Correct Answer: 21
Candidate Answer: 21
Question 65.

2
1 1
If (a + E) = 3, then the value of a® — % will be

11'1%;(3+§)2=3 2, ?—ﬂ'as—iaﬁrmml

Options:
1)1

2)3
3)0

4)2
Correct Answer: 0
Candidate Answer: 0

Question 66.
J24+x + 2 —x
If iy — :,.,2—_.—}{ = 2 ,the value of x is

VZHX + V2 —x
vZ+x — V2 —x

Options:
1) %

=28, d x FI A Faw|

2) %

3)
8/5

4) s



Correct Answer:
8/5

Candidate Answer:
8/5

Question 67.The perimeter of two similar triangles ABC and PQR are 36 cms and 24 cms respectively. If PQ = 10 cm then the length of AB is

3 U O FIySit ABC TR PQR 3t URTT S5t 36 T4, ok 24 A2 1 T2 PQ = 10 A7, & Y AB &I TS TRy ?
Options:

1) 18 cm

18 /.4,

2)12cm

12 9.4

3)15cm

15 9.4,

4) 30 cm

30 9.1

Correct Answer: 15 cm
15 9.1,

Candidate Answer: 15 cm

15 3.4,

Question 68.In a triangle ABC, AB = 8 cm, AC = 10 cm and «B = 90°, then the area of AABC is

ABC fIye 7 AB = 8 .11, , AC = 10 471, 3R 2B = 90°, T AABC T &5th T o1 BNTT 2
Options:

1) 49 sq.cm

49 §.71.2

2) 36 sq.cm

36 9.2

3) 25 sq.cm

259,112

4) 24 sq.cm

24 3.2

Correct Answer: 24 sq.cm
249,112

Candidate Answer: 24 sq.cm

24 Q.12

Question 69.
ABC is atriangle 1f Sin (%) = X2 then the

) 1
value of SmE is

ABCTF farem ¥, Ry sin (22)= 2 gr 4,
sing T AT F4r Z9m?

Options:
1)

4)
7

2
Correct Answer: 2
Candidate Answer: 2

Question 70.The compound interest on Rs. 64,000 for 3 years, compounded annually at 7.5% p.a. is

Rs. 64,000 BT MR W 7.5% dqTE P <= I 3 Y P71 Ihgia st (B ufa g T faar s ), @1 g 2
Options:
1) Rs. 14,400

2) Rs. 15,705
3) Rs. 15,507

4) Rs. 15,075
Correct Answer: Rs. 15,507
Candidate Answer: Rs. 15,507



Question 71.The angles of elevation of the top of a temple, from the foot and the top of a building 30 m high, are 60° and 30° respectively. Then height of the temple
is

T 30 Hiex Sl SHRT & o ud Y J il HfeR & =i 4t IR R 600 3R 300 1 S0 I ST 2 | AR 1 TS Say ?
Options:

1)50 m

50 Hiex

2)43 m

43 Hiex

3)40 m

40 ez

4)45m

45 ez

Correct Answer: 45 m
45 Hiex

Candidate Answer: 50 m
50 Hiex

Question 72.Study the pie-chart given and answer the following questions.

2 Ru Tu Ut =1 &1 3remm BifoTw SR Rufiad ush & I fefvm

_ Miscellaneous,
| 4%

& o

7

If the miscellaneous charges are Rs. 6000, then the advertisement charges are

gfe; fafay R Rs. 6000 &F a fAgo= WHR T 8 ?
Options:
1) Rs.12000

2) Rs.27000
3) Rs.90000

4) Rs.25000
Correct Answer: Rs.27000
Candidate Answer: Rs.27000

Question 73.Study the pie-chart given and answer the following questions.
H e v urg = @1 sreqT wifvTe ok RufefEd st % IR Rfvw

_Miscellaneous,
| 4%

The central angle of printing charge is x more than that of advertisement charge. Then the value of x is

BURE THR BT BT BT A0 THR Y x 31 B, O x T HF &1 81T ?



Options:
1) 72°

2) 61.2°
3) 60°

4) 54.8°
Correct Answer: 61.2°
Candidate Answer: 61.2°

Question 74.Study the pie-chart given and answer the following questions.
Ha feu v urg =1 1 SreqT BifvTe iR RfefEd ush % IR v

_Miscellaneous,
| 4%

What should be the central angle of the sector 'cost of paper'?

PITS DI DI P JdeX BT B HIUT T g ATy ?
Options:
1) 22.5°

2) 54.8°
3) 36°

4) 16°
Correct Answer: 36°
Candidate Answer: 36°

Question 75.Study the pie-chart given and answer the following questions.

F= Ru e o = &1 sremgE v SR Fufaiad vl & SR s

_ Miscellaneous,
| 4%

The ratio between royalty and binder's charges is

Jet IR Reeds & YHR F sid 6T UId JTQ ?
Options:

1) 5:6

2)5:8

3) 6:5

4)8:13

Correct Answer: 5:6

Candidate Answer: 5:6

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

RECEPTACLE



Options:

1) COMPARTMENT

2) HOLE

3) CONTAINER

4) FUNNEL

Correct Answer: CONTAINER

Candidate Answer: [ NOT ANSWERED ]

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

VANITY

Options:

1) PRIDE

2) LOVE

3) COURAGE

4) HUMILITY

Correct Answer: HUMILITY
Candidate Answer: HUMILITY

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Acquisision

2) Acgiusition

3) Acquisition

4) Acquisetion

Correct Answer: Acquisition

Candidate Answer: Acquisition

Question 79.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

If you permit me to speak the truth (A) / I shall state without hesitation (B) / that you have done a mistake (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: [ NOT ANSWERED ]

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I succeeded persuading him (A) / to come with me (B) / only after hours of argument (C) / No Error (D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

Vermin (A) / does much harm (B) / to crops (C) / No Error (D)
Options:

1A

2)B

3)C

4)D

Correct Answer: B

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Light is than sound.
Options:

1) faster

2) more faster

3) sounder

4) lighter

Correct Answer: faster
Candidate Answer: more faster




Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The man for the purpose never did what was expected of him.
Options:

1) supplied

2) favoured

3) employed

4) cited

Correct Answer: employed

Candidate Answer: employed

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

There was a serious between the two brothers.
Options:

1) altercation

2) alteration

3) aberration

4) altieration

Correct Answer: altercation

Candidate Answer: altercation

Question 85.1n each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

To give oneself airs

Options:

1) Space to breathe

2) Time

3) Acting strange

4) Behaving arrogantly

Correct Answer: Behaving arrogantly
Candidate Answer: Behaving arrogantly

Question 86.1n each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

At a stone's throw

Options:

1) At a short distance

2) At a place where quarrels take place
3) At a great distance

4) A quarry

Correct Answer: At a short distance
Candidate Answer: At a short distance

Question 87.1In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Bone of contention

Options:

1) A delicious non-vegetarian item

2) An item which made them content
3) Cause for quarrel

4) A link between them

Correct Answer: Cause for quarrel
Candidate Answer: Cause for quarrel

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A person who has lost the protection of the law
Options:

1) Outlaw

2) Immigrant

3) Outcast

4) Orphan

Correct Answer: Outlaw

Candidate Answer: Outlaw

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Falsification of documents etc.
Options:

1) Xeroxing

2) Forgery

3) Laminating

4) Copying



Correct Answer: Forgery
Candidate Answer: Forgery

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

To make atonement for one's sins
Options:

1) Expiate

2) Renounce

3) Remonstrate

4) Recant

Correct Answer: Expiate

Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

The boys absented themselves for two days.
Options:

1) were absented

2) absented

3) had absented

4) No improvement

Correct Answer: No improvement

Candidate Answer: No improvement

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

My mother insists on setting up something everyday for charity.
Options:

1) on

2)in

3) aside

4) No improvement

Correct Answer: aside

Candidate Answer: No improvement

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

He began on a new business venture.
Options:

1) embarked

2) begun

3) opened

4) No improvement

Correct Answer: embarked

Candidate Answer: embarked

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

I have to say them the truth.
Options:

1) tell

2) state

3) speak

4) No improvement
Correct Answer: tell

Candidate Answer: tell

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

The SSB will interview the candidate between 11 a.m. and 3.00 p.m.
Options:

1) 11.00 am to 3 pm

2) 11.00 from 3 pm

3) 11.am by 3.00 pm

4) No improvement

Correct Answer: No improvement

Candidate Answer: 11.00 am to 3 pm



Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Settled life and cultivation gave man leisure; he had no longer to always think of getting food. During spare time he could make stone tools, hoes or pots and weave
cloth. Some people spared from producing their own food could even devote themselves to other activities all the time. This resulted in a division of labour. The
division of labour made it possible for various groups to specialize, that is, to acquire greater skill and learn better techniques in doing one kind of work.

The settled community life needed rules to regulate the behaviour of the members of the community. It is not possible to know exactly how regulations were
established. It appears that the decisions regarding the community were taken by the people as a whole, or by a council of elders, as is in the practice in tribal
societies. There were perhaps no kings or any organized government. Most likely, there were chiefs elected by the community for their qualities of leadership. But,
these chiefs could not pass their positions on to their sons and they enjoyed few special privileges. Archaeological excavations have not revealed anything which
would indicate the prevalence of a higher status for some members of the community. This is also supported by the study of life in many tribes in modern times.
Thus, social inequalities do not seem to have emerged even in Neolithic times.

What did man do in his spare time?
Options:

1) Made stone tools

2) Made hoes or pots

3) Weave cloth

4) All of the above

Correct Answer: All of the above
Candidate Answer: All of the above

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Settled life and cultivation gave man leisure; he had no longer to always think of getting food. During spare time he could make stone tools, hoes or pots and weave
cloth. Some people spared from producing their own food could even devote themselves to other activities all the time. This resulted in a division of labour. The
division of labour made it possible for various groups to specialize, that is, to acquire greater skill and learn better techniques in doing one kind of work.

The settled community life needed rules to regulate the behaviour of the members of the community. It is not possible to know exactly how regulations were
established. It appears that the decisions regarding the community were taken by the people as a whole, or by a council of elders, as is in the practice in tribal
societies. There were perhaps no kings or any organized government. Most likely, there were chiefs elected by the community for their qualities of leadership. But,
these chiefs could not pass their positions on to their sons and they enjoyed few special privileges. Archaeological excavations have not revealed anything which
would indicate the prevalence of a higher status for some members of the community. This is also supported by the study of life in many tribes in modern times.
Thus, social inequalities do not seem to have emerged even in Neolithic times.

In the passage, "division of labour" means?

Options:

1) Specialization to acquire greater skills

2) Learning arithmetic

3) Working in groups

4) Working from home

Correct Answer: Specialization to acquire greater skills
Candidate Answer: Specialization to acquire greater skills

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Settled life and cultivation gave man leisure; he had no longer to always think of getting food. During spare time he could make stone tools, hoes or pots and weave
cloth. Some people spared from producing their own food could even devote themselves to other activities all the time. This resulted in a division of labour. The
division of labour made it possible for various groups to specialize, that is, to acquire greater skill and learn better techniques in doing one kind of work.

The settled community life needed rules to regulate the behaviour of the members of the community. It is not possible to know exactly how regulations were
established. It appears that the decisions regarding the community were taken by the people as a whole, or by a council of elders, as is in the practice in tribal
societies. There were perhaps no kings or any organized government. Most likely, there were chiefs elected by the community for their qualities of leadership. But,
these chiefs could not pass their positions on to their sons and they enjoyed few special privileges. Archaeological excavations have not revealed anything which
would indicate the prevalence of a higher status for some members of the community. This is also supported by the study of life in many tribes in modern times.
Thus, social inequalities do not seem to have emerged even in Neolithic times.

To which period do the Neolithic times refer:
Options:

1) Later part of the Stone Age

2) Early part of the Stone Age

3) Later part of the Ice Age

4) Medieval times

Correct Answer: Later part of the Stone Age

Candidate Answer: Later part of the Stone Age

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Settled life and cultivation gave man leisure; he had no longer to always think of getting food. During spare time he could make stone tools, hoes or pots and weave
cloth. Some people spared from producing their own food could even devote themselves to other activities all the time. This resulted in a division of labour. The
division of labour made it possible for various groups to specialize, that is, to acquire greater skill and learn better techniques in doing one kind of work.

The settled community life needed rules to regulate the behaviour of the members of the community. It is not possible to know exactly how regulations were
established. It appears that the decisions regarding the community were taken by the people as a whole, or by a council of elders, as is in the practice in tribal
societies. There were perhaps no kings or any organized government. Most likely, there were chiefs elected by the community for their qualities of leadership. But,
these chiefs could not pass their positions on to their sons and they enjoyed few special privileges. Archaeological excavations have not revealed anything which
would indicate the prevalence of a higher status for some members of the community. This is also supported by the study of life in many tribes in modern times.
Thus, social inequalities do not seem to have emerged even in Neolithic times.

Chiefs were elected by the community for their



Options:

1) age

2) qualities of leadership

3) responsibility and courage
4) trust and loyalty

Correct Answer: qualities of leadership
Candidate Answer: qualities of leadership

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Settled life and cultivation gave man leisure; he had no longer to always think of getting food. During spare time he could make stone tools, hoes or pots and weave
cloth. Some people spared from producing their own food could even devote themselves to other activities all the time. This resulted in a division of labour. The
division of labour made it possible for various groups to specialize, that is, to acquire greater skill and learn better techniques in doing one kind of work.

The settled community life needed rules to regulate the behaviour of the members of the community. It is not possible to know exactly how regulations were
established. It appears that the decisions regarding the community were taken by the people as a whole, or by a council of elders, as is in the practice in tribal
societies. There were perhaps no kings or any organized government. Most likely, there were chiefs elected by the community for their qualities of leadership. But,
these chiefs could not pass their positions on to their sons and they enjoyed few special privileges. Archaeological excavations have not revealed anything which
would indicate the prevalence of a higher status for some members of the community. This is also supported by the study of life in many tribes in modern times.
Thus, social inequalities do not seem to have emerged even in Neolithic times.

The meaning of 'privilege' is
Options:

1) allowance

2) favour

3) benefit

4) interest

Correct Answer: benefit

Candidate Answer: benefit



